PROBLEMAS DE TRIGONOMETRIA

Problema 178-:

Hallar el valor de la expresién siguiente; para b= 45°:

tg 2a sen(a — b)

1+sec2a_cosa-cosb

Solucion Problema 178:

sen2a sen2a

tg 2a sen(a—b)  cos2a sen(a—b)  Cos2a sen(a—b)  sen2a sen(a — b)
1+seca cosa-cosh 14 1 cosa-cosh cos2a+1 cosa-cosb 1+cos2a cosa-cosh
cos 2a cos 2a

sen2a  sen(a—b) 2sena-cosa sen(a—b) sena sen(a—b)

2 cos?a cosa-cosb 2 cos?a cosa-cosb cosa cosa-cosb

cos?a - coshb cos?a - cosbh

cosa-cosb

sena-cosb — (sena-cosb —cosa-senb) sena-cosb—sena-cosb+cosa-senb cosa-senb

cosa-cosb cosa-cosb

_Semb b =tgase=1
_cosb_g -ty =
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cosa-cosb

sena-cosa-cosb —cosa[sen(a—b)] cosalsena-cosb—sen(a—b)] [sena-cosb—sen(a—Db)]
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